.     Substitution Method    .
If one equation is written y = or x = the substitution method is best

y = 4x + 5




y = -2x +6



2y + 3x – 18 = 0

y + 7x – 27 = 0


y = 4x – 12



y = 3x

Equations



Steps:

y = 4x + 5




1)  Substitute the first equation in place of y in 2nd 
y + 7x – 27 = 0


2)  Select one variable to eliminate 

4x + 5 + 7x – 27 = 0


Simplify and solve (brackets may be needed)
            11x – 22 = 0

                   11x = 22 

One solution
                       x = 2


y = 4x + 5




3)  Substitute this variable back into one equation
y = 4 x 2 + 5



      to get the other variable

y = 8 + 5
y = 13






Other solution
     y + 7x – 27 = 0


4)  Substitute both solutions into the other original
13 + 7x2 – 27 = 0?


      equation to check answer is correct
  13 + 14 – 27 = 0
             27-27 = 0  Yes!
 
Solution: x = 2 and y = 13 or coordinate (2, 13)
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